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BIOZR $200 | O $100
BORE $1,500|1 PO #E $200
OB $1,500|ZE O $100
) $1,100)E=OFF $200
ZFOHE $700[FEOIE $200
O $100[FEOfZ $200
O $100[Z=OH $200
HOH $100/E O $100
#HO1Ma $100[£5OFE $100
HORE $100|%= O+ $500
MHEEEIRAE] $88,498 |t On5=E $500
=0%F $200[HROEEE $100,000
=OIESR $12,000| O $1,250
ROF $1.200[{hOZ $1,250
=OZ $1.200|18O%E $1,250
MHO= $1.200|FHOE $1,250
AO+ $200|{L OFF $1,250
MO $2,320{52OF $1,250
O $2,600) = ORX $1,250
i OFd $10,000]| £ OIS $1,250
tROZE $600H Ok $100,000
HO& $600[HOF $5,000
AOE $600[FO= $1,000
O $1,220| =06+ $200
FROAL $600|FEO%x $1,000
HO= $500[#O=E $200
=0 $1.100[EPOHHES $1,000
ZFOER $300[= O $400
O $3.000)OF $20,000
MHEEEIRAE] $49,358| Oz $1,000
BOE $5.000) F Ot (0 $2,320
fitt O $1,200{FEOTE $100
O $1,200{FROZE $200
i OTT $1,200|EOFF $200
TOE $100[EOL $200
TO%& $100[EFOH1 $200
10O $1.200|1Z Ot $200
HEOHE $1.200[ZF O = $100
i Ok $1,200{BRO St $100
ROE $1,200[FEO & $200
B OF(] $1,200|1210O% $100
RO $1,200| RO $100
O $1,200{%=0O % $100
O $200(fR O $200
#O1la $200f O $200
O $200(fRO=E $100
2O $200]f O $100
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O $200[# O3 $200
BEOH $1,200|ZF O $100
FOF $200[E= OFF $300
MHOE $1,200| 8L OFE $500
O $1.200[ KOREFLL $2,000
A O3k $1,200) O $500
AEO5E $1.200{ 52Ot $1,200
Ot $1.200{ kO $100
O $1.200);EOF2 $500
O $1.200[FE O $100
i O4F $1.200{5 O $1,000
HOE $1.,200| PO $100
O $1,200|ZF O $100
TO& $1,200|1ZOtG $100
£ZO%E $3,000|EFO%E $100
OB $100|FFO1= $100
TOF $100[EF O $100
+OZ8 $1.200 [ O $100
MOH $1.200|1#FO%E $100
e Oz $1,200) 52 O%#, $400
[ OF $1,200| %O $400
Z O $1,200{Z1OF5 $500
=OE $1.200[HEO $100
IO $1,200|5E O $1,000
s O $1,200|F O $200
sTOR $1,200[#5O%E $100
ZOF $1,200)|F Ok $300
RO $1,200|{BR Ol $2,000
iTOF $1,000| EOAIHD $500
BOZ= $500]= O35 $500
MO $200| O+ $200
=0% T $200(# O $600
w= Ol $400[ RO $600
B O $300[5=O% $600
TON $1.000[Z£O % $600
AROZE $1,000|122OFE $600
BROS $1,500|F O $600
BIOZR $200 | O $600
BROSE $1,000|1Z0= $600
#O g L $500[ETOEE $600
RO $100[FEFOHR $600
£ O $100| EOFH $600
ROZE $100[FFO $600
ZO1= $200[#5O%E $600
HO{ $3,000| & O <] $600
LOZE $3,000]BEO $1,200
SO $500[HHOH $1,200
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HOE $600[ EOZFE $1,200
BIOF $600[FE O 1% $1,200
PROAL $600|FH ORE $500
F O $3,0007ROH $1,200
EEOkRS $3,000|ZFO %t $1,000
HOZ $400[HROXF $500
E O3 $50[BROFE $500
75 e ZER i A IRV E] $500[FRO %G $500
AR $50,000| kO $1,200
FERERE $1,200|121OF $300
PRoEE $1,200{#5OFk $300
THEE $1,200{#OF5 $1,200
T E $1,200({f O ZE £, $1,200
it % $1,200(%8 O $1,200
RELE $1,200|5ROE $500
REIE $1,200) POk $500
e $1,200)|&0O T $1,200
BRA $1,200[z=O5A $1,200
PR B $1.200[= Ok $1,200
Eansilll $1,200)| EOH $1,200
it $1.200[F=0OZX $1,200
{FuFEESE $1,200|1FO%& $500
RE $1,200|F O $500
R $50,000{ZIOHE $300
HOZ $1.250|{h O+ $500
BO% $1.250 [ O $300
FAOE $1.250{BB Ok $300
{HORE $1,250|Z= Ol $500
=ORK $1,250[ FOF $100
FOH $1,250[ FO4 $100
GO $1,250|FIOER $200
sTOEX $1.250[2£0 $300
et 4 i s G A VANG $20,000|1Z= O $300
B $6.000|1Z= O $300
FORMH $600[HEOHT $300
£0% $300[HO= $300
BOx $1,000)1Z=OFL $300
O $100[HEO#: $300
BO%E $100[Z=OFk $300
O $1,200)3 O $300
i 2 B EACEAY $1.000[3£0 $300
MO¥E $1,200|#OE $300
210 $1.200[FH O $3,000
A O $1,200)| EO# $100
O $1,200{ O $100
O $2,320({6O%E $300
PROME $1,000] B O $100
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i OFF T $1.200| £OF $1,000
FOE $1,200| RO % $1,000
O $1.,200EO5EL $5,000
=0 $1,200| FO= $1,200
TORE $1,200)BEOBH $1,500
HOF $1,200) T O $600
wOHk $1.200( T O## $400
RO $1,200[FR O $500
BROE $1,200)7#% O T e $300
PR Ok $1.200[#F OF& $1,000
RO $1,000[FH OFF4E $100
sTO%& $1,200[=O%E $100
wOETT $1,200[# O $200
OB, $1,200|=O#F $500
FOE $1.200[ZFO% $100
ROBE $1.200[750 $200
2OH $1,200{#8 Okt $200
FO% $350|F O $100
ZO5A $1,200| O $100
BOZ= $6.000) B O%F] $100
PROME $4.000) 8 OFH $200
PO $2,000) 2= Offfl $300
FIOK $200|5FO L% $100
A O T $3,000{E=OF5 I $100
%0 $1,100[FRO % $600
O $1,000) 2OV $100
FO $300| 2O $1,000
PROZE $100| SO $1,000
BROYE $100[HOFK $1,000
75 e ZER (i A IRV E] $600| 2 OHE $1,000
MHEEEIRAE] $68,444|F O $1,000
EEOBBED $1.200{52 O $1,000
HOFEHE $1,200| =05+ $3,000
HOE $1,200{ =0 $200
O $100|EE Ot $300
#Ola $100| =05+ $20,000
O $100[BR Oz $2,000
2O $100[HO1E $500
O $100[FO= $250
PO F $100[f1 OZ> $250
EEOZEAL $1,200[E O #S $500
sTO4 $1,200|BEO%E $600
B O $300[FEO%k $600
#O Jg L $500[FEOE $600
HOREE $200[FRO%E $200
O $1.000[E OF $1,000
=0%F $200[FHOFF $1,000
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MO $200[EOFE $1,000
FOE $1.000[E O $1,000
O $400[FROZFE $200
£0# $200[f O $500
EO¥ $600[#FOF2 $500
g O $600[#EOW $500
GO $600[#F O $500
g Ottt $2,400|5EOf5 $5,000
O/ $600|f O $200
O $600|#mORE $1,000
wOE $600[#ORE $1,000
HOH $600[#ORE $1,000
HO $600[#ORE $1,000
ZOEE $600[FROZ $200
MO $600[ O $200
2Oty $600|# O $300
PO $600[t5OFH $300
PO $600[t5OFH $200
s OfE $600[2£ Ok $300
=0 $600[t5 O $600
s O $600[tH OF $200
BOFs $600[ RO $100
HOEL $600[tZOFL $600
EOX $600[#O%= $600
O $2,320|5O%0 $1,000
B OMES $500|E=O%k $600
BO $1,000| 21Ok $1,000
AOT $200]HEO 2k $5,000
BRO $1,500| B OF* $200
HOE $500[z= O $200
ZO1 $200[BR O $200
BROFT $1,200(PE O $200
HBOE $100| EO $200
BO%E $100[FROJE $200
EHOPF $300[FER O $200
BRO B $1,200|5FO%% $200
MOfF $1,200) RO $200
HO $1,200[FFOHE $200
BOR $1,200)5F O e $200
BOIE $1,200[5FOF $200
BO% $1.200[E O $1,000
BOBE $1,200{E OtF $1,000
frOT $1,200{E OtF $1,000
HOB $1.200[E O $1,000
2O $1,200) H O $200
BHOZE $1,200) & O $3.600
BROAE $1.200)# Ok $200
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i OF, $1,200{ 5= OF5 I $100
w16 $1,200[£5OBEED) $2,000
FO¥E $600|FOF $1,500
BROBRR $300| &L MhFoeEtt $20,000
ROFE $600[2EOF5 $300
FOH $600|E= Ok $300
O $300[#EOE $100
BROTE $300|HEO 5 $500
BROX $300[ERO1E $100
BOE $1.800|FO& $1,000
ROF $1,800[FROEE $100
S OFiri $1,200)BE O $300
ROE $300[FR O $200
OB $300[EBOFE T $200
AROH $1,200|1EFO=L $200
O $1,200{#O o $200
MHO= $1.200|1Z Ot $200
MO# $1,200)B O 7% $200
MO $1,200|5= Ot $1,200
BROSE $1,200)B O $200
BROJE $1,200) B O3 $200
205 $1,200[FF Oz $200
O $300[br O $1,000
O $300|2F O % $100
i Ot $1,200{BRO St $100
AROSE $6,000{ kO] $100
Z0OF $300[ERO TG $200
MHO& $600[ EOHK $300
BIOF $500|f O %2 $300
BIOZR $200[BROZ $300
PROAL $600[HO=F=2 $500
RO $1,000[FEO % $100
MHOE $1,200| 52O $1,000
TOWRAL $500[21Of% $100
B O $300[BROZ $100
ZFOBR $300[FFOHH $100
O $3.000 O & $200
A O $500[F= O $200
75 e ZER i A IRV E] $600|;E O $200
MEEARAE $58,268 | E O $400
AR EYIRE R A IR H] $3,000{ZIOF5 $500
PO $200|HE=OH $1,000
HROZ $520[Z= O] $200
=0% T $200[#H O $100
PO $2,000|%=0O & $100
ZOE $100[52 Ot $400
O $1.000{FROEE $200
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KROZEE $1.000[FROA= $200
HOMS $6,000[FEOE $100
HOE $100[fR O $100
RO $100[5=OF4 $400
RO $600[# O $200
HOE $1,600|Z O $100
=O%E $1.200[=0O7FF $200
FOH $6,000)FEO#E $200
FZO=E $1.000FEO% $200
SO $500[Z= Ot $200
w= Ol $400[ZF O $300
BROSE $1,000{FOJI $2,320
FEOI $1.000/EEO & $9,000
HOH $1,000{ZIOEk $200
#FO KRR $600 |5 Ot $300
£0% $300[£5OFE $200
FROH $500[5=OEH $2.400
O et $500)7EO1H $1,200
#O g L $500|%= O+~ $500
ZO1 $200[BIOF $800
HOE $3.000{ZIOF $1,600
LOZE $3,000|ZF O $100
BO $1,000|ZF O $100
O $100[FO1a $100
RO $1,000|1ZOt& $100
BO%E $100|HFOZE $100
HO= $500|HFOZE $100
O $2,000|EBOf= $100
=0l $10,000|EOf= $100
AOE $10,000|EFO75 $100
ZFOBR $300[EB O $100
MOFE $1,000|21O%E $1,200
ZOR $500[ IO $1,200
75 e ZER (i A IRV E] $500[ZFOZK $1,200
ORI $2,320|21O % $1,200
E O $400|ZF O $1,200
BIOF $600|F O $1,200
BIOZR $200 1] O5% $100
TOAIED $500[F O $100
=50 $500|12200& $1,200
MM EEEIRAE] $32.412|= O & $1,000
RO $1,500|=0= $50,000
TOXR $600[FEOH $1,500
T O## $400[ T O% $600
RO Tt $300[ T Ot $400
A OFE $1,000[FEOYE $500
HOWEIE $100[7& O 7t $300
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=OE $100{#E O%F $1,000
PO 5200 Ot $100
HOME §500]EOE $100
FOHE $100[#ROE $200
50 $200[ O $500
BORE $200[ 0% $100
HOE $100[770 $200
FOX $100] 8ROk $200
BO% S ERe: $100
% Ot $200[ O $100
HOM $300[BEO%E $100
HORK $100] 8 O18 $200
BO%% $600| O $300
O% §1,000[ ORI $100
el $500[BRO %45 $600
—0O%BF $200(210%% $100
BEOR: $300[ 2O $100
BROuE $600] 1 O1 $3,000
O $100;TO=E $3,000
#08 §1,000[ B8O He $500
=OM $300( =O 5T $200
BROH $10,800| = OLL $400
BOTE §300[O R $500
B O $300[8O%E $150
%0l 520005 $150
BOTF $100[850%: $150
BO% $200[5EO% $150
OB $600| EOE $100
BOE $200[ EOE $100
BOXT $200[EH0O $1,200
MO $200[ EORK $100
BOH $200| EO $100
MO% $200] B O $100
RO $200(220OF% $300
BOE $200]BO% $1,000
BOM $200]ZI0% $400
BROZE $200{ FE O $1,000
HEORE $1005EO $1,000
BEOSH $100|FOF $1,000
BOEA $200[EEO A $600
FOM $600[BEOKE $1,000
RO $600]ZIO %k $2,320
BO% S600[#EO $100
ZO0& $100[ FE O $500
BO% 51000 $500
EOE $200| 0% $1,000
ORI $200]1% > 8 BT ERD; $1,000
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HO8E $200(Z=0O1= $200
EOMR $100|fFHOE $1,200
HOME $100|1#ROZK $1,200
HO= $100[#50O%E $100
@ $100|FFO%E $100
@) $100| EO#0GHD) $500
fOHE $100|5EO3 $1,000
20 $200|Z O $500
FO% $200|-FORE $1,000
FOHE $200{FO B $300
HEOM $200{& O $300
HOZE $200[FEO=FE $300
2Ok $200|BEO= $500
HOSE $200{FROzE $200
FZO&% $200[&= O $3,000
SO $200|ZO%k $300
SO $200[PR OHH $1,500
BOEE $300{ T O $600
O $200[ T O#% $400
BOE $300|B1O%k $200
20X $100[BEOE $500
RO $1,000[;&O F $300
BO%E $100|F O $1,000
PROEE $200[FH O 45 $100
O $200|EOE $100
PROZE $100[FRO5= $200
O $100|E O $500
MO $200| 2O $100
L {@LS $100[ 5O $200
BOHE $300| 8Ol $200
EOF $200| 2O $100
O $200|#6 O $50,000
EOR $200| EOL $100
O $200|FHO%H $100
RO RBIZ $600[ % OfH $200
BO% $1,000[FFOE# $100
0% $1,000[EOFH $100
FOF $200( P O<40 $600
FOu $1,000l RKOKEFTL $500
=ORKEE $2,320|122O 78 $100
BOE $600| EO == $1,500
RO $600| & OVl $50,000
=08 $600| RO $35,000
EXO1E $600[ %8 O% $600
= O3, $600| & OHE $600
#O% $600[ 82 OF $600
PROZ $600[ % O'E $600
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PROZ= $600| % O $600
BRO® $600[E O $600
BOFE $600| & Offgts: $600
RO $600|ZF O $600
BROE $600[E= O $600
ROEE $600[EHO ¢ $600
AROHi $600[EFOEE $600
RO $600[HOZE $600
O $600[ 2Ot $600
PRORE $600[#F O $600
PROETE $600[#F O $600
FEOHL $600[=OLE: $600
BRO B $600[E= O/ $600
HOT $600[= O $600
2Z0F $300[tOF5 $600
2IOF $500[EBOLL $600
ROz $100|% O3 $600
PROZE $100|ZFO% $500
BROZE $1,200|BE O $300
BRO$ $100[ EOHK $300
BROE: $100[FRO%E $300
HOE $100[BROZ $300
HOE $1.200[ZFO= $1,000
PROT $100[frOF $1,000
FROM $100[Z£EOF% $300
PROEE $100[EB O $500
BRORE $100| =05+ $200
T O $100[E= O $400
BROkE $100|EE Ot $300
RO $100|122OFE $2,000
s O $100|$#O & et $500
BRO $100[E= OPF $300
sTOFE $100|EHO+ $300
s O i $100|FEO%x $2,000
sTOE $100[7x0O%> $310
OB $100|EO%x $1,000
PROME $1,200|HOAE $2,320
BROBH $1,500{1OF5 $400
TOXE $600[FEOH $500
T O $400[# O $100
RO T $300| O $1,000
A OFe $1.000[/ROEE $10,000
HOWEIE $100|&£O EERIZ $600
=OE $100[3EO= $100
MO $200[# O $500
EOAED $500|F Ok $300
O $500[ KOKREFEL $2,000
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+OH $100pTOHE $1,200
10O $200[BIOF $800
SO $200[EB O $100
=50 $500[FOfa $100
FORE $100|HFOZE $100
FOX $100|FFO1= $100
BRO&H $100[ERO5 $100
g O $200 |t O3 $100
Z O $300[AEO#H $2,000
ZFOBR $300]+ORAE $700
s OFB L $100[ = O $1,200
PRO%0 $600|FHOH $1,200
75 e ZER i A IRV E] $500[LOZ $1,100
BIOZR $200[#5O%E $1,100
RO $1.000|FHOE $1,100
+O&F $125|{h OFF $1,100
O $125|52OFE $1,100
FO% $125[FORX $1,100
BOE $125| O $1,100
B O $300|5FO L% $1,100
MM EEEIRAE] $7.182[FIOk $200
GO $1,000| EOAIHD $500
HOZ $1,000| 5O $500
BO% $1.000[FFOE $1,200
MO $1,000|ZF O $100
{HORE $1,000|1ZOt& $100
=OK $1,000|EFO%E $100
FOH $1,000|EBOf= $100
GO $1,000|ZL O $100
FOF: $1.000 [T O 5 $100
BROLF $600[5F O $100,000
TOE $300[57R Ok $1,000
TO4& $300 B Ot $300
ZOF $200[ ROREF L $1,000
MHOEAE $500[BIOF $800
O $100[FOAE $1,200
#Ola $100[=OF &= $1,000
O $100|ExOE $3,000
HOL $100[EO e $300
O $100[BBOFl $300
FOF $100|2=Olig $300
BIOFEH $200/2£0 $500
RO $200/2= O $500
B0k $200(2=O% $500
ZIOE $200[HEOHT $500
FEORE $200[ O $500
EROZE $200[==0O1F% $500
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RO $200[HEO#= $500
RO $200[Z= O£k $500
O $300[HEO=E $500
TOF $300[H£O $500
FHOE $200[# O $300
BIO# $200[BBOZFE $300
#O Jg Bk $500|#5 Ok $500
TON $1,000| &k O ERFEZE $600
KROZE $1,000[#O== $500
ZO=E $1.000{O 2 $2,000
SO $500[FO= $1,000
=0% T $200 BB O $500
fitt O $100| =05+ $200
BOX $3,000)E=OLL $400
AEOE $500[21OF5 $500
PrOtet $100]5#O & et $3,500
AEOFEH $500)Z Ok $20
HEOZ $100)1FE 0O $1,200
PO $100[#O=E $200
MO $100[HO% $7,000
ZO1 $200[HOF $7,000
EHO% $500 &k O $7,000
RO $500[EOfkL $7,000
BlO&E $5,000|BHOHE $1,000
MO $100| FOE $1,000
O $400| £ O 4% $1,000
#FORBZR $600[ RO $56,000
{HOKE $1.000[&x O%F $7,000
O $3,000| £ Ot $1,000
SOt $1.200| £O%& $1,000
RO $1,000| FOFF $1,000
H OLL $600[&x OFH $7,000
H OFk $600|1E O $300
SO $400|FO%J $500
FOM $400[ZFO1= $200
£08E $800[H O $3,000
£Z0% $800[) O $3,000
HOBR $1.200|2£OF% $300
RO $1,200|FO%z $1,000
sTOFE $1.200|1#E O3 $3,000
BEO% $1.000[fEOZ Mk $6,000
HO¥ $2,320[#HOE $100
O $100| O $2,320
TORE $200[#O%E $100
BROZAL $900[FR O $1,000
PROZE $600[ RO $1,000
BIO# $2,000)FOFEZE $500
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BEOF $5,000(EFOHk $500
MO $2,000{ZXOF4 $500
EORE $3,000|1#5OHH $600
BEOBH $500(#5O % $500
BO%H $100[#5 0O $500
EFEOE $300(#5OH $500
758 RN AR A E] $500[#5OFH $500
—0O% T $50|FEO i $500
O $2,400[#RO%% $700
FOHE $30,000{® O $1,200
FOH% $10,000[ 3 O $1,200
ak O $6,000|FHO%E $600
HOL- $3,000(BE Ol $600
T LOZE $3,000{ = OFg $600
P OBH $1,500(BX O $600
TO%E $600( = O54 $600
TO# $400[E£OF $600
210F $600( B O%F $600
21O $200({fOZ= $600
FEOEH $300( B OFs $600
mOFE $1,000|EO=E $600
i O $100[£O $600
=OE $100[BROME $600
HOE $200{ KO $600
ROk $1,000|£O%Hi $600
=OE $500[Z&O%Hi $600
=0 $100| EOF $75
70O $200| EOH $75
O $200[ O $75
ZOE $100[EFOE $75
EE O $300[FEOHE $600
FOXL $100|BEORE $600
P O%5 $100|BR O EAE $600
& OtH $200(| O $600
ZOHH $300(FR OB $600
=HOFFE $100|EO7 $600
BOE $600(|5E Ok $1,000
FA[@F $100|FE Ok $300
#mOJ $307,800[ZEO=% $20,000
=OJE $1,200[;& O F 3% $600
FO4% $600|EE O%R $2,000
BEOAE $4,000 [ O1Eds $200
O ERE $500[FOE $200
P Oz $100[#R O $200
BROIE $100 [ O $400
P OZE $200(B1O% $400
O $200| & OIEl $1,200
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HOFET $200[#RO 2 $1,200
FZOX $200|21OFk $200
HO $200[#HAOF $1,000
HOE $200 [ O $500
RO $200[FRO%E $200
O $1,500(FROF $150
TOE $100[ = Offg $1,200
FO4 $100| PO $100
RO $200[ EOHk $150
BROME $200[FRO%E $150
BROZR $200[BROZ $150
ZF O % $100[HO=82 $500
BROSE $100[HOZ% $100
BROXEG $200[ 5O $1,000
PROZE $100[FROZFE $200
BRO$ $100[FRO#h $200
RO $100[#RO $100
PROZ $100)7%O $15,000
AHEOE $200[EB O $100
FEORM $200[F O 15 $100
AEOH $200|HFOZE $100
BROE: $100[E O $100
HOE $100[ER O $100
ORI $1,500[FR O $200
BROF $100ta O $100
O $100[HHOLE $200
PROEE $100[fE OJE $3,000
RO $100[#F Ok H $1,000
T O $100[FROF* $200
BROkE $100[z= O $200
RO $100[FR O $200
s O $100[BR O $200
RO $100| EO $200
ErOHE $100[FROJE $200
sTO = $100[FR O $200
irOF $100[EFOi% $200
FAO¥E $1,000) B O $200
FOH $100[ETO*E $200
TOF $100[EFO f, $200
ROt $100[5TOZE $200
EAON| $200|FO1T $1,000
EZOX $100[HH O $200
BROEE $200| ROt $1,200
RO $200[#H O $100
BROE $100[52 Ot $400
BRO B $10,000| 52O $400

/et $1,310,172 /et $1,083,830
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=t $2,394,002




